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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
JEK R
= 1 210, 538, 243
ER LT
= 1 5, 147, 803
BT
m3 350 69, 195
B (L) RS - 4. 0mPL |
= 1 69, 195
BT
m3 130 39, 273
B+ 4. 0mPL |
= 1 39, 273
Fe AL T
= 1 5, 039, 335
M BT
= 1 198, 478, 832
[5G 1L
= 1 198, 478, 832
A7) =R EIELAVN AT B 1600mm £
SUTHE) 20.3m & Wik 1
[Y) 9.3m
%N 495 264, 464 130, 909, 680
A7) -FER EIELAVN AT B 1600mm £
SUTHE) 19.9m & HiE) 1
(B) 8.9m
%N 272 248, 416 67, 569, 152
HEE
= 1 579, 464
RS B L T
= 1 579, 464
+o5
(KR 5 1#§Z)
= 1 579, 464
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Gan
= 1 6, 332, 144
VESEY-D Hei T
= 1 6, 332, 144
B TR
= 1 210, 538, 243
I L
= 1 30, 595, 479
IR
= 1 10, 868, 883
TR
= 1 9, 108, 602
R R R
= 1 114, 624
TR oy MR ST
= 1 8,993, 978
et By
= 1 13, 388
A m b R
= 1 13, 388
BIGREsET (K30
= 1 1, 746, 893
MR E (FE L)
= 1 19, 726, 596
Wi
= 1 241, 133, 722
B
= 1 69, 200, 813
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)

T AT

= 1 310, 334, 535

— R

= 1 44, 995, 465
TS

= 1 355, 330, 000
THEBLFH Y %H

= 1 35, 533, 000
TH#EG

= 1 390, 863, 000
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